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3.

fwo vectors hisving aqual magnitude A
Frvikes 80 angle 120 witl, aach ather The
magnitude of the resultant vector will be
(A) A (B)  2A
(C) 3A (D) A

It vector Wad, W and vector

W2 %)k thenthe values of 4, is
(h) 6 B 12

(€) 21 o) 15

What is the Dimension of univeral
gravatational constant (G)

(A) ML*T?

(B) MILAT?

(C) MIL*T2

(D) ML*T2

Which is not the equation of motion,
(A) 5= ul4 I, ol

(B) veusa

(C)y S=ur+ ;ul

(D) v w i’ 4 2a
The distance moved by a particle in

simple harmonic motion in one time
period:

(A A (B) 2A

(C) 4A Dy  Zero

(Where A is amplitude of simple
harmonic motion)

~ ™
'k.3/

SUCTR LT I L7 R UL
120° w1 ayn gy ¥y e, ooy ot
i g,

(h)y A (B) 2A
() A () 4n

afe  nfwyr  Acviea)-n A
RFRS YR T I B O R
(A) 6 8) 12
cy 21 () 16

e, v Bt 4y P @
i B

(A) ML*?
(B) M%7
(C) MIL¥T?
(D) MLAT2
G T CT
(A) S=u+4 £ at’
2
BY veura

(C) Ne=ut ﬁgm

D) Wmyls 2ax

A # ud nd 4h B

(A) A B)y 2A

(C) 4 D) g
(et A w7t caad o 0 s )
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10.

Quantity which does notchange during 6
refraction is

(A) F requency

(B) Speed

(C) Direction

(D) Wave length

When a particle moves in a circular path

with uniform speed then-

(A) Its velocity and acceleration are
both constant

(B) Its velocity is constant but

acceleration changes

Its acceleration is constant but

velocity changes -

Its velocity and acceleration both

change

If the momentum of a body be increased

by 50% then increase in kinetic energy

of the body will be:

(A) 25%

(C) 125%

Light is a:

(A)

(B)

(C) Mechanical wave

(D) None of these

Two thin lenses of focal length +10cm

and -25cm are placed in contact. The

power of combination is:

(A)

(B)

(C)

(D)

(€

(D)

(B)
(D)

50%
150%

Longitudinal wave
Transverse wave

10.

6 Dioptre
5 Dioptre
3 Dioptre
50/3 Dioptre

W R T 3 o T e e
2

(A)

(B) ==

(C) Rwm

(D) ¥ 3

T F A W @ TN 99 8§
I & an

(A) 358 3 3K @ A Rer =3 B

(B) 7= 31 B 3/ = =9

T " R 3Rm 3 o=

W @ T W E 50% <9 Ry s &
T 54§ oy 2%

(A) 25%

(C)

(D)

B) 50%

(C) 125%
EH UF %
(A) 2=

(D} . 150%
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A blackbod -
y at temperature 200 Kelvin 1. U HoER 200 HRed & @9 | 2 q€ /52

radiates ener 2watt/
kg tgyattherate Y i WY Fofl oA Il B 9 A
€ lemperature becomes 400 Kelvin Ffegs Iaafla :
be:
16 watt (A) 163 /2
) MY
32 watl g 2
B s (®) 32a=/A
c gwall
(© /mz (C) saE/AR
64 wall
(D) A,z (D) 64dR/H?2
1 calory is equal to: 12. 1 3% & 99 &
(A) 1 Joule A) 15
1 (B) 2.4 Joule (B) 2.4 Eﬁ
‘, (C) 4.18 Joule (C) 4.18 S
| (D) 8.36 Joule (D) 8.36 S

13. Which series is found in ultraviolet 13. FE-91 I T & ¥ O o &
region:

A Soft
(A) Pfund series R
(B) Paschan series . (B) wemr 3t
(C) Balmer series (C) s i
(D) Lyman series (D) <EEA o)

14. The resistance of a copper wire is 8 14. di9 $ TH 9 H 99 839 B aR
ohm. If the radius and length both of the IR F B ok = AN 3 A T HT
copper are doubled then the resistance fear T A R & ST A
of the wire become: -

(A) 2 dA™
(A) 2ohm

(B) 4 3m
(B) 4ohm

(C) 32 &H
(C) 32o0hm
(D) 16 ohm (D) 16 &=

e B.Sc. (MATHS)/1300




15.

16.

.

18.

Two equal resistance are connactad in
series, What is true for this,

(A)  Only currant will be same in both
resistance

(B)  Only voltage drop will be same in
both resistance

(C) Both current and voltage drop will
be same in both resistance

(D) None of these

Four capacitors having capacity 6 4/ F,
104 F, 154 F and 20 14 F have been
connected in parallel, The resultant
capacity will be:

(A) 24 uF

(B) 50uF

(C) 04uF

(D) None of these

Rectifiers are used for:

(A) Toconvertdeinac

(B) Tostep up the dc voltage
(C) Toconvertacintodc

(D) Tostep up the ac voltage

The plate resistance of a triode valve is
4000 ohm and its amplification factor is
8. What will be the mutual conductance
of triode:

(A) 32000 amp./ volt

(B) 500 amp/volt

(C) 2x10°% ampivolt

(D) None of these

™
6

16,

17.

18.

t—*

A1 ot i Augn i g B g fen

i B

(A) Al dfed | e dr aee B

(B) At ul e 9 A Ay qae wEe
Gl

(Cy il wfe o wre dar A gae
At T B

(D) 1t 7 g A

ottt ey afeear 50F, 10 4 F,

160 F 3T 20 F B, & awrat A &
orer war By ofromd enfeen 2

(A) 24 p1F
(B) 50uF
(C) 04uF

(D) %t @ % Ak

fardreren wya £1a #:

(A) dc A 1 ac qeost § FEad B
fe

(B) dc dl@es % IwEu

(C) ac d@est # dc dees § aea &
forg

(D) ac @A % ITAT 2

T AT gid e gfady 4000 30

q1 ZEH A e 8 B gris @

S Al # e

(A) 32000 ufeqay /ace

(B) 500 ufepry /A

(C) 2x10°? nfiqyy /4w

(D) 7 # | #E e
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21.

19.

ubstance has a half life

ears. The fraction of
s will

A radioactive S

period of 20y

substance that will decay in 80 year

be:

™ N
® %
© %

0 e

Force acting between two charges is

directly proportional to:

(A) Sumofcharges

(B) Difference of charges
(C) Product of charges

(D) Division of charges

N
'\7,/

21.

; = gy
o A A qd B 7 3
‘ ‘ 2
(1,,) w3 DL it
7‘/
B
(A) A (),()‘)3
0,693
(B) ’l‘%
1= b
(C) 7'%

© %

® Y6
graﬁsﬁ%aﬂammﬁmaagq@m
(A) emgt F A B

(B) At & i B

(C) o B TH

(D) omast & qm &
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23.

24,

25.

In following which has the lowest
wavelength:

(A} x-rays
(B) r-rays

(C) Uttraviolet rays

(D) Infrared rays

Express 5 kilo watt hour ( KWH) in joule
(J).

(A) 3.6x10° Joule

(B) 36x107 Joule

(C) 1.8x10° Joule

(D) 1.8x107 Joule

The refractive index of water is 4/3 and
the refractive index of glass is 3/2. What
is the refractive index of glass with

24.

respect to water:
(A) 8

(B) 1.125
(C) 2

(D) 225
Critical angle is: 25
(A) Angle of incidence in rare medium

(B) Angle of incidence in denser

medium
(C) Angle of refraction in rare medium
Angle of regraction in denser
medium

~a™
<8

22,

23.

e

Frfefaa & & fae aa 3 oy &
x-Feet

(B) r-fETe

(C) T

(A)

(D) T ot
5 frciiare g2 &1 5@ § o b
(A) 3.6x10%3@
(B) 3.6x107 3
(C) 1.8x1065

(D) 1.8x107 3@

T H AYGAE 4/3 T FE F TG
312 31 9 B AN HG B AGGSTIE
2?

(A) 8
(B) 1.125
(C) 2

(D) 225
s o7 B

(A) fama wrem & s
(B) #a9 Hr=® ¥ Huaq @
(C) Tt =armm & arqgds gy

(D) 799 m1=m ¥ sqgds o
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30;

The electric meter in house records the 26,

consumption of.
(A) Charge (B)  Current
(C) Energy (D) Power

The primary coil of a transformer has 800 a7,

turns and the gecondary coil has Bturns,
Ifitis connected to a 220 volts ac supply.
What will be the output voltage:

(A) 22volts

(B) 22000 volts

{0y 220 volts

(D) Noneof these

A given wire of resistance 1 ohm is 28.

strectched to double its length. What will
be its new resistance:

(A) 10ohm (B) 2ohm
(C) 3ohm (D) 4ohm

The ratio between the radii of 20,

permissible orbits of hydrogen is:
(A) 1:2:3:4efc
(B) 1 +4:9:16 etc
(C) 1 827 .64 efc

bt ]
2 34

ra

(D) 1 etc

Find the temperature at which the root 30.

mean square speed of gas molecules
become two times the value at 100°C,

temperature:
(A) 1492°C

(B) 1219°C
(C) 200°C
(D) 746°C

VAT e
9

it #f fgprie faa o 41 am frd
4’:‘(3'1(7,’:

(A)  AAN (By A

€y A (D)
o it % st g7ed # 800 B
o T e # 8 BT e
220ﬁn?z¢mmﬁmrm%ﬁr
(A) 2.2 A

(B) 22000 A

(C) 220 A

(D) A 7 P A
%m@mnﬁﬂm@q‘#,aﬁdﬁm
mmmﬁmam%gm
a1 oferdi @ e

(A) 1AW B) 2 3™
(C) 3 M (D) 4 @M
mﬁm%wmﬂaﬁrmﬁ%aﬁa
(A) 1:2:3 490

B) 1:4:9:16 3%

(C) 1:8:27:64 3

o 44

i g 1 o A G o
% oo & M WA qW oA H A
100°C @9 T A F A T E:

(A) 1492°C
(B) 1219°C
(C) 200°C
(D) 746°C
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a1,

32,

33.

- When a radicactive isptope 88 R3238

An optical fibre is based on the principle
of:

(A) Polarization
(B)

(C)

Interference
Total internal reflection

(D) None of these

The value of gas constant (R) is: 32.

(A)
(B)
(©)
(D)

8.3 Joule/mole. kelvin
8.3 calory/mole. kelvin
4.2 Joule/mole. kelvin

4.2 calory/mole. kelvin

When star is moving towards the a8

observer its takes a:
(A)
(B)
(C)
(D)

Red shift
Blue shift
Black shift

None of these

Sun appears red at sunrise and sunset, 34.

This is due to scatting of:
(A)
(B)
(©)
(D)

Shorter wavelengths
Longer wavelengths
Both (A) and (B)

None of these

decays by emission of three -particle

and one f-particle the isctope finally
formed is:

(A) 84%220
(C) 83%216

(B)
(D)

86%222

83x215

e

31.

35.

e At Fret fvETd 10 fere7 &7l

&

(A) g

(B) FHEHTT

(c) ot e ST

(D) g & B T

e o (R) 1 A1 B 2
() 8.3 /. Head

(B) 8.3 &t /Ar. Hfed
(C) 4.2 /A Hfea

(D) 4.2 Feirdt /A Bfead
WE ar e # ai% o 7@l & al Bem

(A) @ e

(B) e fawms

(C) el feremae

(D) ¥4 & i &

R T BREd W % arer Ay &
(A) B T4 T %

(B) = T 3 B

©) (A 9 (B) 3

(D) & B2 75
W@mﬂtﬁﬂmﬁrqagpzama,m
LN e R T
Wﬁ@fm@'@fqaﬁmag%;

(A) 84x220 (B, e
M (D)  gaxais

B.Sc. (MATHS)/1300



46,

37

38

38.

40

Which is 8 scalar quantity
Farce

(A)

1y Energy

(C)  Momenturm

(D) Allofthese

Rocket works on the principle
(A)  Conservation of energy
()

Bernauli theorem

(C)  Conservation of momentum

(D) None of these

Energy of sunis produced due to :

(A) lomzation

(B)

Nuclear fission

(C)  Nuclear fussion

(D) None of these

Onincreasing pressure on ice its melting
point will,

(A)  Decrease
(B) Increase

(C)
()

Become zero
None of these
Nature of sound wave is’
(A)  Transverse
(B)  Longitudinal
(C) Stationary

(D) Electromagnetic

36 @ i afae ofy ¥
(A) 39
(B) A
(C)
(D) % A ol
37, wke T S ur wd g B
(A)  Fott rtrmm
(B) wiel say
(C) Han doam
(D) &7 7 A 7
38, g4 B A o= ad B
(A) 3994 &
(B) At famvzs grg
(C) wfw#r wags B
(D) Z 7 Hf
39. 9% T %G =GN A IHH T
(A) g2 S
(B) ag wmrm
(C) 9= & s

(D) z% 7 F1 45t

40. i wi B vl B b
(A) A
(B) arfeA
(Cy  aromd

(D) famg gerf

B.5C, (MATHS)/ 1200




41 Electric motor works on the principle of.

42.

43.

44,

45.

(A) Ohm'slaw

(B)

(C) Ampere's law

Lenz's law

(D) Faraday's law

If the length of simple pendulum become
four time, the time period of simple
pendulum will become:

(A) Twotimes
(B)
(C)
(D)

What is the unit of resistivity:

Four times
One fourth
None of these
(A) Ohm
(B)
(C)

(D)
Light year is the unit of:

Ohm/meter
Ohm-meter

Meter

(A) Time

(B) Mass

(C) Distance

(D) None ofthese

To make a n-type semiconductor, which
impurity is added in germanium:

(A) Silicon
(B)
()

(D)

Boron
Antimony

None of these

az

41.

42.

43.

44,

45.

- 1 SIS S $ U SHWaE
§ B @ argRe e &

(A) RafereE

(B) aRH

(C) ufrewr

(D) T | Hig T

B.SC. (MATHS) 1300



- Atwhat lemperature the volume of water
IS MiInNuMLum

(A} 0°C

(B} 100°C

{€¢) 16°C

Dy 4°C

The work function of a photoelectric
matenal 6 Gev Threshold frequency will
be (given h=6 6x10"* Joule-second)
(A} 18x10'0Hz

(B) Bx10'SHz

(C) 16x10"5Hz

(D) 5x10"Hz

Who among the following gave
uncertainity principle?

(A} Heisenberg

(B) Rudherford

(C) Milkman

(D) None of these

How many modes of transfer of heat are
there:

{A) One

(B) Two

(C) Three

(D) Four

The place at which the attractive force is
maximum in a magnet is:

(A} Centre

(B) Atmid point

(C) Pole
(D) Entire surface

az

\

45

47

48

49

?wmmmwmm@mm

(A}
(8)

0°C
100°C
(C) 15°C
(D) 4°C

TH g A et W w6 Sey
klmmﬂ‘*z

(A) 18x10'"0%dn

(B) 8x10'S gén

(C) 16x10"%edm

(D) 5x10'8mdm

T A B afsfress = frars B
(A) T

(B) 7ETerd

(C) fomsla

(D) & & g

FoN mET A e R B
(A) TF

(B) =

(C) #=

(D) =

7% % 6w o ety e wafes
B &

(A) = w7

(B) wew famy v

(C) g

(D) g waE w

B S (MAYHE L e
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52.

53

55

Equation showing wave nature of
electron s

{A) E=Ha
B) £= mc?
(C) ,'1 = f"{,

(D) Av-Ap2h4

= /2

Magnetic quantum number i related to:
{A) Size

(B) Shape

(C) Onentation

(D) Spin

Radioactive isotopes of Hydrogenis .
(A Y,

(B) 2H,
(C) ‘H,

{D) None of these

Maximum bond angle isin-
(A} '\‘.”_l,

By Hy0

~(C) CHa

(D) NF3

Lithium shOows diagonal relationshp
with .

(A) Mg

(B) Ca

(C) Se

(O T

Q4L

52.

53

54.

55.

Qe # A gl ® Wi
iR ©
(A) E=Ha

B £ =m?

© =4

© &x-dp2 i

gt e o S
(A) aTFET A

(C) 'Hj

(D) I § & i T
gy @ waffaw ¥

(A) NHs

(B) 0

(C) CH4

(D) N3

oy Foepet el wafsla avar B
(A) Mg

(B) Ca

(C) 5S¢

Dy h

S, (MATHS) a0



Which has highest atomic radi
(A Nt

B) o*

(C) p-

(D) Age®

Highest electron affinity is of -
(A) F

(B) Cl

(C) Br

D) 1

Chemical formula of distill water :
(A) D0

(B) #,0

(C) D0+ Hy0

(D) 7,0

Baking soda is :

(A Nurid

(B) NaxCe)y

(C) NaHc(y

O) KoH

If pH of HCI solution is 4, then molar

concentration of /7 in solutionis :
(A) 40

B) 0

(C) 0.0001

(D) 0.04

5

56

67,

58.

59.

60.

R e e
(A)

(B) ()

©) 5

(D) Agy?

(A) F

(B) CI

(C) Br

(D) 1

A o & aanatis ga o
(A) 1,0

By 1,0

(C) Dy0 + Hy)

(D) 1,0

A e der g

(A) NaOt

(B) Nap('0)y

(C) Nut(C Oy

(D) Kon

A% HC! faerast &1 5t 4 B at e &
H* & e Bz @ o

(A) 4.0

(B) O

(C) 0.0001

(D) 0.04

B.9¢. (MATHS)/1300



81

63.

65.

Ascorbic acid is - 61.

{A) Protein

(B) Enzyme
(C) Hamone
(D) Vitamine

Vitamin B, is contains : 62

(A) Fe (Il
(B) Co (1D
(C) Zn (1D
(D) Ca (I

The treatment of C(H3Mg\ with 63.

CH3C = C - H produces :
(A) CH3CH =CH,

(B) CH3CU =( -CHy
(C) CHyCH =CH -CH,

(D) (‘H.;

a-—D-(+) Glucose and - D-(+) 64.

Glucose are :

(A) Conformer

(B) Epimer

(C) Anomer

(D) None
CHsNoCl HELBE, o (X)
(X)is:

(A) Caig

(B) CgHsNoBFy

(C) CgHgl!

(D) CgHsF

ae

product 65.

e OF T 8

(A) W&

(B) TgH

(C) &

(D) faaf

Refrt By, ¥ 81T &

(A) Fe (IT)

(B) Co (II)

(C) Zn(II)

(D) Ca(Il)

CHyC=C—-H & T4 CHzMgX
STEIRd H G o B @
(A) CHyCH = CH,

(B) CH3( =C—-CHj

(C) CH3CH =CH ~CH,

(D) CH,4

a-D-(+) TIRA QU B D-(+)
T ¥

(A) d&q

(B) @M

(C) TR

(D) #§ wiEh

CeHsNo ('l
g
(A) Cghg

HE/BF ¥
""’3 (X) TR (¥)

(B) CgHsN,BE,
(C) CgHg('l
(D) CgHsF

B.Sc. (MATHS)/1300



For cyclic process -

(A) Ak =0

B) A -0

(C) Both AX -0 and A/ - 0
(") None

Which aqueous solution has highest
pH .

(A Nacy

(B) NH 4!

(C) NayC'Oy

(D) NatiCoy

The normality of 1A7 1/ 31’04 solution wil
be .

(A) 0.5N

(B) 10N

(C) 20N

(D) 3.0N

Lead pencil contain :

(A) Pb

(B) FeS

(C) PbS

(D) Graphite

Which of the following is most stable

AN
Ny

H
(C) Cl
o ()

Qan

66,

67,

68,

69.

e,

wiby g o o

(A) e Az .

(B) @4t Ay .. 0

C) AL -0 Ay .g drit

(D) W ol

MWWWW phi et B
(A Nt

(B) N4t

(C)  Nay('0y

(D) Natico,

W 1y PO, Taeras it apfaar #eh
(A) 0.5N
(B) 1.0N
(C) 2.0N
(D) 3.0N

A Uftrer § dren B
(A) Pb

(B) FeS

(C) PbS

(D) Graphite

arelfefe # A wetfees wrd ¥

AN

(B)
(C)

(D)

0 <

B.5¢. (MATHS)/1300
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e

The IUPAC name of pyridine ig.
W) Asine

() Aziidine

(0) Agule

(N None

Rakelite is obtained from phenol by
reacting with:

(A} CH40M

(B) GH3CHO
() CHLCOCH,
(1) HCHO

Which of the following is used as
ubricant:

) Quartz
(1) Graphite
(L) S0,

L
(N 8SnCly,

Cig PU(NH4),Cl, is used in treatment
ol

(A) Anemia

(B8) Cancet

(C) Jaundice

(D) Typhoid

In strongest alkaline medium the
equivalent weight of KMnQ, is:

A 316
(B) 82.7
(C) 7.0
(D) 188.0

ass

73.

RS @& IUPAC o &

(A) T

(8) S

(C) u

(D) | el

W Read ay afefe &= SEage
g el &

(A) CH4OH

(B) CH4CHO

(C) CH,COCH,4

(D) HCHO

Rl & & #F wes & &0 F 9%
A &

(A) @RS

(B) IwgE

(C) Si0,

(D) SnCl,

R Pt (NH3),Cl, STER & g e
&

(A) TRITEr |

(B) R

(C) QiR

(D) TEE

YS WY weE ¥ KMnO, & sl
X B :

(A) 316

(B) 52.7

(C) 79.0

(D) 158.0

B.5c. (MATHS)Y 1300




76.

77.

v 3.

79.

80.

The oxidation, state of Crin K20r207 76.

is
(A) +3
(B) +5
(C) +6
(D) +10

(A) Octahedral

(B) Tetrahedral

(C) Squire planar

(D) Trigonal bipyramidal

Which of the following has fractional 78.

bond order:
(A) Oy

(B) NO*
(C) Oy
(D) B,

The peroxide bond is not present in: 79.

(A) BaO,
(B) Na,O,
(C) Sr02

(D) PbO,

Haematite is ore of: 80.

(A) Pb
(B) Cu
(C) Fe
(D) Au

Qa9

KyCry05 & Cr &t strreiian oraedr &
(A) +3
(B) +5
(C) +6

(D) +10
Fe(CO); @ @él wuifify &:
(A) STEHH
(B) IgwHIHA
(C) a1 e

(D) Bravr fafdfEl
frefafaa & @ fega sg #9 =Tees
t

(A) O,

® . *

(C) O,

(D) By

e 9y e gt @
(A) BaO,

(B) NayO,

(C) SrO,

(D) PbO,

BplﬁT:'IST.’ fereT o &
(A) Pb

(B) Cu

(C) Fe

(D) Au

B.5¢. (MATHS)/1300



81.

82.

83.

84.

85.

Molecular orbital theory was given by

(A) Kossel
(B) Mosely
(C) Mulliken
(D) Wemer

Which of the following is paramagnetic:

(A) By

(B) C,

(C) Ny

(D) F2

The number of orbital present in the
shell with n=4is:

(A) 16 |

(B) 8

(C) 18

(D) 32

An alkyne has general formula:
(A) CnHa,

(B) CnHana

(C) CnHapip

(D) CnHap2

Brass contains:

(A) Cu+Zn

(B) Cu+Sn

(C) Cu+Ni

(D) Cu+Sb

Qo

81.

82.

83.

84.

85.

(D) F2
n=4ar%a?rarﬁ3qﬁﬂﬂmﬁaﬁé@ﬂr

(3

(A) 16

(B) 8

(C) 18

(D) 32
e B A G e 2
(A) CnHg,
(B) CnHanss
(C) CnHjppso
(D) CnHyp
S § o @
(A) Cu+Zn
(B) Cu+Sn
(C) Cu+Ni
(D) Cu+Sb

B.Sc. (MATHS)/1300
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Which one of the following is not an
isttope of hydroger:

(A) Deuterium

(B) Tritium

(C) Ortho Hydrogen

(D) None

The value of one am.uis:

(A} 16621024

(B) 1.4x10~2g

(C) 6.023x10* 2%

(D) 4.8x10~24g

Which of the following is non-metallic:
(A) B

(B) Be

(C) Mg

(D) Al

Phenol is less acidic than.

(A) Acetic acid

(B) Ethanol

(C) p-methoxy phenol

(D) Acitylene

pH value of 0.0001 M HCI solution is:
(h) 4

(B) 6

(C) 2

D) 7

QC

89.

1 3 & B s & e

&
() ggaem

(B) Ffemm

(C) FriiEEg

(D) #E

9% amu H 99 2

(A) 1.66x10~%4g

(B) 1.4x10721g

(C) 6.023x10%*23g

(D) 4.8x10~24g

= 3 8 27 7 s &
(A) B

(B) Be

(C) Mg

(D) Al

I FH T 2

(A) THE% o |

(B) T4 §

(C) Ha/ T %A &

(D) wdéi &

0.0001 M HCI f&e@7 % pH 5 71 &
(A) 4

(B) 6

(C) 2

(D) 7

B.Sc. (MATHS)/1300



61,

82,

94.

Mustisrd gas is 4
(Ay Ol gas

(H) Poisonous (Jas
() Fuelgas

(1) Life gas

:””fﬂljd b‘/ 92

Total number of isomers
CeHyg 18

(A) 2

B) 3

(C) 4

(D) 6

Idoform test is not given by e
(A) Ethanol

(B) Benzophenone

(C) Ethanal

(D) Acetophenone

The case of dehydration of alcohol is
in the:

(A) 1722°>3"

(B) 1°>3°>2"

(C) 2°>3°>1°

(D) 3°>2°>1°

Horn silver is:

(A) AgCl

(B} Ag,S

(C) (CuAg),5

(D) AgNO,

£

94.

95,

(D) 3°>2°>1°
e foe &
(A) AgCl

(B) Ag,S

(C) (CuAg),S
(D) AgNO,




Basicity of CH;COOH is:
® 1 '

(B) 3

(C) 2

(D) 0

Williamson synthesis used to prepare:

(A) Acetone
(B) Alkane
(C) Diethy ether

(D) Aldehyde

Which of the following is weakest base:

(A) NHj

(B) CH;NH,

(C) (CHg),NH

(D) (CHy)sN

Glucose is an example of: '
(A) Aldopentose

(B) Aldohexose

(C) Ketopentose

(D) Ketohexase

The strongest Bronsted base is:
(A) CIO~
(B)Y clos
(C) cioz

(D) cloy

96.

@x)

97.

98.

99.

100.

CH,COOH @I T &:
(A) 1
(B) 3
©) 2

(D) 0

fiferaere offifpar s |
2

(A) THREH

(B) A

(C) =¥ o
(ORUERES]

(A) NH,
(B) CH3NH,
(C) (CH3),NH

(D) (CH3)3N

IS TEE &
(A) TREIURIT

(B) T=ieadl
(C) FrruweIst

(D) eI

SR SITESH &
(A) ClO~
(B) Ci0;
(C) clog

(D) Cioz

SFERT Y Sl

e § QB P AR

B.Sc. (MATHS)/1300




101. IfAand B are two non empty sets such
thatn (AN B)Y=N, thenn [(AxB) (BxA)]
is equal to:

(A) n (8) n"
€) 17 G

102. ffR—R IS defined by _r"(x)==2x+l.r}

then _f'(3x)-f(~—.\')—4x =?
(A) (¥ YA
€y F-x D) 2f()
z "-:-:l here -2 -1)
103. If |z|=1and w=_7 (Wnere =
then Re (w)is:
A O
i
(B) \:—+1i2
o .
©) ‘-H\ |:+ll2
$
(®) \:+1‘2
104. The inverse of the function
F:R—{xe R|x <1} given by
f(x)= \-—e—_lx is
t
A l‘t‘l'l+x
LV R e
1 24
®) e
1 1-x
(C) Elogm
e’ +e

102.

103.

104.

%

Aa?ﬂBiT
;;ﬁn (ANB=0 A n [(AXBIN(BXA)]
AT e
(A) N ®
©) ™ (1 S
gz fR-R gq TN qfnfea &
=25+ J fG0- S0 _gy=?
ERASY B) —/x)
() ft x) (D) 21 (x)

._1 %

R ||=13F ¥~ = (sTer -2-1) &
e?l(u.-)asrarﬁﬁ?ﬁm-am
(A O

1
(B) ';:-1—][2

g ]
©). z+1 |z+1]

J2

&) 1:4—1[2
CRE F:&“){-"GRI.\%H} M

fo = B T o 3, &

(B)

(C)

) g ite
=

B.Sc. (MATHS)/1300



If /v be the raots of the equation
(- (x =B =di d =0 then the
. ools of ithe aguation
. (x-aMx~ Ay =-yitdd =0 are

A)  ab, he, ad
' B) « —d b-d,o~d

B © he

- (D) atd, brd crd

The value of the expression

Fr 43
:sin(?lun l]]-t u.-s(ldu '2\/2] ig

-:i_ 3 14
E A ; ®
1 3

E © ()T

7. Forthe equation y” + prad=0, pao
if one of the roots is square of the other,
then p is equalto .

1
E A 3 @ 1
 © 3 |

fs'-’ 5! s"'
4 3 s ad
5 h} s h}
8 The value of | _

1 ]54 & g

{ A 52
B) 0
€y o
L O ¢

106, 4 gdfigon g ity ried
de) ® 08 w py B A tﬂ"?l?si“_i
(% —es 0y~ fhte ;-;I-f’-ﬂ*‘-}-ﬂ'm:

(A)
(B)

()

wh, by, il
id=g, h 'J- ¥ il

¢ B,y

(DY v, brid,eidd

I ii]'u;h(lun | 'J'J:’]

106, @ W .sm[ Han

Gl WA A

i , 14
N ®
(C) s iy

107 qmasen 7y o i) pet)  fe,
aft e W, g e @ Al & waae @ o,
poSaEt dm

|
(A) ' @ 1
]
(€) 3 ) 3
2 g1 g
: ! gt g
108 G RLRE
! 5t 5
A ¢
B 0
(C)y 4!
Dy o
™

[RATHS | Hn



2x2 e & T e &
109. af& A4 B,
109. IfAand B are invertible matrices of order 3 - & § - B g9 TG

2x2. then which of the followingd 5

statement is not correct?

@y adi A=|AA
(A) adj A=|A4A4"

-1 ~
ot B) |47'|=I4
(B) ‘A Il:lA| (B) l l
-1 . g7l -1
©) qasBy ealep” (C) (4+B) =4~ +B
(D) (.43)“53"%"1 . (D) (AB)”'.:B—"A*I
b 0 0 b 0 0
110. 1f X=|0 » 0| then the value of 440 afx x=|0 b O A det(Adj X) &
0.0 b 0 0 b
det(Adj X) is: e 8
(A) b*7 & b
|8) b° ®) b°
©) b° ©) b°
(D) b? 0) 5
111. The -value of constant &, so that the 11, oK k, & 99 Bred By e
function
o sin 2 x i
ST x#0 Fil=t & 5T
f(x)=4{ Sx P if x=0
b, g =
is continuous atx =0, is : x =0T Haq &, a
(A) o (A) o
® - 5
: (B) =
) 5
= C) 5
© =
3 o). 2
5
Q6>

B.Sc. (MATHS)/1300



112.

113.

114.

115.

2
ax” +1
x+ Y

then 7(x) is differentiable atx=1if

X4

x <

IS .
A a=2
B) a=1
C) a=0
D) a=4
If f(x)=v2x’~1 and y= f(x’) then 113.
value of o at x=1 isequalto:
dx ’
I
A 2 ® =
(C) 0 D) 2/
3 3 I -
If y= Iog(x+ Ja' +x° ) then ;—V is: 114.
X
¥ a
(A) 7 (B) B
ax 1
(©) a’+x (D) Ja* +x°
SiNX—XCOSX
The value of Jﬂ—t(.r+sinx) dv s : 115.
sin x .
A) log x+sinx #E
X .
(B) log _\'+siﬁ S
(C) lOg :XCO.S .'l'. +(.
x+sinx
Ccos X :
(D) log ;4— sin x%“

Q7

12. 3R _f'(.r)z{‘“" 3!

Xz ]
<]

X+ Y

W x=1TW 7(x) FaHaTE T AR o
[

A a=2
(B) a=1
©€C) a=0
D) a=4
A )=V -1 T p=f(xY) @
dv
L Hmam x=1 g am:
dx
1
(A) 2 B
(C) 0 (D) 27D
e y=log(r+\fal+x2) & % g
% : a
W T ® s
. ux 1
© Va' +x° (©) Jai +x°
J-sinx-—x-cosx O gy
x(x +sinx)
sin x !
() log}————1FL
x+sinx
Ot
(B) " X+sinx
XCOSX 2
(C) log —t -
X+sinx
COSX | .
log {
() e xX+sinx I

B.Sc. (MATHS)/1300




e T T T
g

T A TR N TR R NS _— )
L TR, .n i 7\.7‘-_-_‘:7";‘;_..__]“‘ .y Sy e SN -

X
116, The minimum value of log, X 18

[

(A) e B) %
|

(c 1 () B

117. The point atwhich the slope of the curve
is maximum will

ym-x'+3x’ +9x-27
be ..

(A) (=1, 16)

B) (1, -16)

(C) (0, -27)

(D) (=1, =32)

118. The interval in which flx)y=x"is

monotonic increasing willbe
(A) (e @) (B) (=»,¢)
(C) (}. ™) 0 (0.))

119. The angle at which the curve y = ke

intersects the y-axis is .
(A) tan "(k*)

(B) cot” (k%)

el 1
o =zt

b/ 4
O) 3

;‘_mqqﬁqqm%:

116. jog, ¥

|
8 ® -
]
(C) 1 (D) :,'.7

-’ #3x +9x-27

117, a8 fag o T )
£ yaorar AEBT B, B
@ (-1.10)
@® -16)
) (0. -27)

(o) (-1, -32)
118, arwE forad HA f(x)=x", FaAT
gfgm B, 2
(A) (e )
(C) (£. =) Dy (%)
119, 98 Ao BE W T y=ke', Y- #
e &, am o

(A)  tan'(k7)

(B) cot™' (k%)

(C) sin“[ﬁ;L_}
1+k*

(D)

SAR)

P
28 p.5c, (MATHS) 1390



120.

121.

122.

123.

|
$
the value of ¢ forthe Lagrange's mean
value theorem is :

Forthe function /(x)=yv4 - (1, 3

(A 1 B N

V2
If the area of a circle increases at a

uniform rate, then the perimeter of circle
varies :

(A)
(B) directly as radius
(C)
(D)

€ 2 (D)

inversely as the radius

uniformly constant

None of these.

If y=sin (msin”'x),then (I-x? ), = xy,
is equal to :

(A) 0
m’y
my

-m’y
]
If E and F are events such that P(E)= 1

1 1
P(F)=7,and P(E and F)= y then P(not
EandnotF)="7?

l
(A) 3
2
(B) 2
S
(C), 3
3
(D) 3

QP

120.

121,

122,

123.

BAT S(x)= x4 '[. vell. 3] % faa
X

A e gl i uEa o WO
LI

B i

J2
AR Bl g7 & A b e (Fr)

TR W A A g B o o
a—;".

(A) B & e
(B) B & asrurh

(C) & a9 fma

(D) I & & FE 7

My =sin (msin"x) A (1= - xv,
IUET B

(A) 0

(B)
(C)
(D)

(D)

m’y
ny

—m“y
qﬁEaFWWﬁmﬁ%P(EF‘},

P(F)=:l; T P(E 3R F)=% ar P &

EdRTI&F) =2
|

(A) 3
2

(B) 3
5

(C) 3

By 2

D) 3

B.5¢, (MATHS)Y/1300



124. If "C, =" C; then n'is:

(A) 17 ®) 16
(C) 15 (D) 14

125. The value of a such that 47th and 181"

terms of the expansion (2+a)30 are
equal, willbe :

(A) 33
(B) 50
(€ 1

(D)

| —

126. If a, b, c are in geometric progressiovn

and :{ b{_ — B ',then:
(A) x,yzare in GP.
(B) x,y,zarein A.P.
(C) x,y.zare in H.P.

(D) x2,)? zarein AP.

127.1f 2’: n=210 then Z nt=7

n=1 n=|

(A) 2870 (B) 2160

(c) 2970 (D) 2980

128. The reflection of the point (4,-13) about

the line 5x+y +6=01s:
@A) (-1.-14)

®) (3.4

(c) (0.0

@D (1.2)

30

1205.

126.

127.

128.

gz "0y =" Gy Hnt:
A 17 (B) 16
(c) 15 (B4
a @ @6 A Rrad A JAR (2+a)0%
175&183‘13%@?&@7"1
A 33
() 50
©) 1
1
()Y
e a, b,cgﬂﬁ‘ﬂ’{' Fuff & & qen

1 3
Y Yy
aX=b" =¢

A x .2 vt 3t 7 B
(B) x,y,zwmavﬁﬁ%l

ar

tal—

(C) x,y,z &b R F 2
(D) x2, )7, 22 F aoft 7 2

qﬁZn 2103?]'2:7—'?

n=1 n=1

B) 2160
(D) 2980

(A) 2870
{C) 2970

Yar 5x+y+6=07, &5 (@
Qe faeg enm

A (-1,-14)
(B) (3.4)
(C) (0,0)
(D) (1,2)

4. =13) &l

B.SC. (MATHS},’BOO



120,

130.

131.

132,

The equation of the circle whose radius
18 & and which touches the circle
X =4y~ 20,

R 0 externally at

the point (5, §) is .

(A) (v "8)} ()4 I._)"‘ .28

B) (x=8) 4+ (r=12) =25

(C) (x=9" +(v-8) =25

D) (49 +(p+8) =25

Ity = 2x is a chord of the circle

v+ 7 = 10x then this chord is diameter

of the circle :

(A)

X4y 244y =0

(B)

X4y =2x-d4y=0

C) X+ +3Ix+6y=0

D) x4y =3x-6y=0

Ifthe line 3x+4y =k touches the circle
x4y =10x =0, then the value of £ is
(A) -5o0r8

(B) -10o0r40

(C) 3o0r8

(D) 8or10

The latus - rectum of the parabola
9x" —6x+36y+19=0 is :

3

1206 By aid), 9o ga @ wiiwon o ga

130.

131.

132.

) )

Xy =Dy —dy -2 (Y fﬁ’ﬁ’ (6, §)
UL aree: W ween f) e

(A (x+8) 4 (149) =25
B) (x~8) +(y~12) =25
C) (x=9) 4 (y-8) =25
(D) (x+9) +(y+8)" =25

af y=2% T x4 =10x N TH

d @ A aw o, B g W A
2

(A) X4y +2x+4y=0

(B) x*+y?-2x -4y =0

(C) X+ +3x+6y=0

(D) x+y' =3x-6y=0

i xar x+dy=k, gd X4y =10x=0
P wet FIA X A 4 H AN AW

(A) -50r8
(B) —-100r40
(C) 3or8

(D) 8or10

TETd 9x° —6x+36y+19=0 F MH-
o B

I
(A) 3
(B) 3
(C) 4
(D) 2

B.5¢. (MATHS)/1300



133.

134,

135.

The line Ix+my+n=0 will touch the

parabOIa ."Z = 4qx if :

(A) :

In=am

(B) Im = an*

(€)

nm = alz

(D) ’2 2 2 2

+m- =a”+n

The equation 3xk+y_+]=0

represents an ellipse, if :
(A)  ke(-».3)

(B) ke(8. =)

(C) ke(8, ®)u(-w,3)
(D) ke(3.8)

The equation of the normal at

=y
(acosg.hsing) tothe ellipse 5 ¥ ';2— =|
a

is

(A)  axcosg+bysing = a* 4+ b2
(B)  axcosg ~bysing = ¢* - >
(C) axsecp+hycos ecch=a’ 4h?

(D)  axsec §-bycosecg = - p2

322

133, 1@ Ix+my+n=0, qEdd y° =4ax B
ot O, A

(A)

In = umz
Im = anz
nm = al®
1 em? =d® 0’

2 2

134, G S+ +1=0, T &g
frefm &, e

(A)
(B)

(C)
(D)

k €(-=,3)
ke(8. =)

k (8, ) (—w, 3)

ke(3,8)

2

2
X y
135. &rfga ;—5+7)-2—=1%I%1-—g (acos ¢, bsin )

T A # w2

(A) axcosg+bysing = 2 + b2
(B) axcosg —hysin g = ¢? — p2
(C) axsecd + by cos ee ¢ = o Y
(D)

axsecd —hycos ccp=a’ b

B.Sc. (MATHS)/1300



D

136. The equation of the hyperbola where foci 136. I8 ANforRaea F g R i

are (0. + 12) and length of latus rectum

: (0,12) & 1 v 36 8, & :
is 36, willbe :
A) x?-3y2 =18 W) x2-3y? =18
B) 3vi-x?=108 B) 3p2_xroy08
(C) 3+%- -": =180 (C) 3x7- 2 =180

2 2
(D) 3_]' -2x" = 181 (D) 3_1:2-2'\'2 =181

137. If ‘/'(_1')=r:y v &W)=y. ¥y>0 and 137. gfe fO)=e", gP=p y>0 Gﬁ?
b

F(r)= Io S =1)g(y)dy then: F(t)= J‘(’) f(t=y)g(y)dy a9 :
e P A Fy=-re™ +(1-e™
(B) F(r)=re" (B): Fipgat

(C) Fi=e -(1+1)

D) Fuy=te'

C) Fny=e -(1+1)

D) F@y=1re

28 . 5 =
138. L (sm_‘-+|sm‘\-|)dx=? 138, L_fr (sin.\'+|sin.\‘|)dx=?

(A) 4 ® 0 (A) 4 B o0
(€) 1 (D) 8 ) 1 (D) 8
139. The area of the region bounded by the 139. g y=|x=2, x=1. x=3 3 x-o @
curves y=|x-2|. x=1, x=3 and % 85 P AABA A
X-axis is : A 4 ®) 2
(A) 4 (B) 2
©) 3 D) 1 (C) . 3 (D) 1
140. The slope of the tangent to a curve 140. Ifz 5 9% y=f(x) @ (x.f(x)) w
v=f(x) at (x.f(x)) is 2x+1. If the JAURT 2x4+1 B TN @6 fg (1,2) A
curve passes through the point (1, 2), AFT TR aarn TFh, X-GTeY 3N 3@ x=1
then the area of the region bounded by R A5 = A% AT
the curve, the x-axis and the line x=1is :
6 5 g
@ > ® 2 ® Bt
© ¢ © 6 © < © 6
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(2"{:4'&'[1;? | o —cosx
141 I y = y(x) and y+l )dr

ﬂ ’
)=, then .V{ 3 Jis equalto.

| 2
w3 B 3
(©) '1 o 1

142 The solution of the differential equation
dy y, 8 CA)
dc x ¢
(A) x¢(L)=k
(B) ¢(r=khy
(C) yp/) =k

(D)  $(/) = kx

143 1f D and E are the mid points of sides
AB and AC of a triangle ABC
respectively. Then which of the following
is true?

(A AD+ AE = BC

N P
(8) BE+DC =B

(C) AB+AC== DE

(S R

pws sy p
(D) BE-DC=3BC

144 If o. b, ¢ arethree unit vectors such that

a+b+c=othenab+bcica is:

(A) 3 | -

Wi

(Cy -3 oy -

12|

141

142.

143.

[245inX L dy s
m ‘,::}’{Xj # %_ﬂ;fi d.z

/

. (7] g

oy=1. W "3 Fu@? B

' o2
A 3 B 3
© ’Ig o
A A dy _y ¢

. . l‘.l-'mx+¢‘;$’ H 7
$:
(A) x.ﬁ(%}=k

(C) ypC/)=k
(D) (/) =k
afz D 4 E 7 B ABC # st

AT ACE T g A A=A A
#7771 77
(A)  AD+ AE = BC

w9

A o boc A9 v wRw @\ g E

LT POl Tl SN pdd

(A) 3 2
§9) - ==
3

s (D) -
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145,

146,

147,

Let G=2+j4k. h=i+2j-f and a
unit vector ¢ be coplaner. If ¢ g
perpendicularto o then ¢ =7

[ e
(A) JE("/F/()
PR
® Fi-i-h
I s Y
© (-2

Lioa 2
(D) -;]i‘(:-w-k)

The image of point (1, 6, 3) in the line

(A) (1,7,0)
B) (1,0,7)
(C) (7.1,0)
Oy (1.1.7)

The angle between the planes
2x-y4+z=6 and x+y+2z=7 I8

(A)

(D)

e

32

145 91 G=2i+ j+k, h=i+2j-k 9 THF

146.

147.

afesr ¢, vF A R B 3 ¢, a B
g B ¢ =7

I 2 P
—=(=j+k)

2

(A)

"j

T
(B) 7—5(—1'—_!'—/‘)

L .
—=(i-2))

(C) NG

%

(D) ﬁ(f—_}'—i)

frg (1,6, 3) # T ilc,zyT-'l:zgz 3
e g :
(A) (1,7,0)
(B) (1.0,7)
(C) (7.1,0)
€0 6 P Y
THAAl 2x—y+2=6  x+y+2:=7 &

a9 & HIOT BT :

T
(A) z
T
(B) 5

(©)

Wy

N

(D)
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- e ,’;):3\/3 ﬂ F’TWT
T :-‘5. (f +l,+
i circle H:S“ i H
148. The radius Of 2
F.gejriy=33 8 n S
(A) o ® 3
i ) 4
i o g f%
(D) 1 149_qﬁAaBﬁmﬁWW

t
149. If A and B are two events such tha

1
P(A! B)= p- P(A=p P(B) =~ A

1 d 3
P(A!B)=p. P(A)=p, P(B)=§ an

5
5 P(AuB)=6 a p=?
P(AUB)='6,then pel?

2 B 5
(A) 3 3
3 ® =
(B) 3 5
3
3 ©) 3

(C) 2
D) =
© ; | 3

: 1
150. If  f:[l.»]—>[2.] is given by 150. of £, ] = [2,0], If(_\"):x-ﬁ--\-: N

_f(x)=-\‘+%,then s TR 2 A f—|('\_) @I”T[ .
(A) ”‘E‘?;—‘i (A) :JF
o =
@ = e 2t =4
D) 1+vx2-4 By 1 m
€y
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